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Midterm 2 — Dupuy — Math 121 — Fall 2016

Instructions Remember to show all your work to get full credit. Please leave answers in their exact
form. This is a closed book test. You may not use a caleulator. If you need extra paper let me

know.
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Problem |Possible | Score
1 15
2 10
‘Dec?.m}*@w% 3 10
e 4 10
) ﬁﬂ*ﬁ“ﬁ‘ﬁ 5 10
§ 15
‘E’W\ﬁ‘”‘“ 7 15
U EC1 10
“w‘“g = EC2 10
Total 85
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1. (15 points )
points) Compyte partial derivatives of the indicated functions
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/ 2. {10 points) Find the plane tangent to the elliptic paraboloid z = 227 + * at the

point (1,1,3).
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3. (10 points) Determine if the limit exists or not. If the limit exists state its value. If
not, explain why:.
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4. (10 points
) Create a level set plot (contour plot) of
0

Wz, y) =28 —
make sur = -
e to label the level sets for hiz,y) = -1, h(z,y) =1
) = =1,Ah(z,y) = 1 and h(z,y) = 0.
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/ 5. (10 points) Let flz, vy, z) = gy

a) [ R
(h} ;Whﬂ.t direction does f have the maximal rate of change at the peint (0,0,0)?
(b) What is the value of the maximal rate of change?
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6. (15 points) Evaluate the iterated integral by reversing the order of integration

'{t‘[i:eﬂdzdy.
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7. (15 poi
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EC1 (10 points) et :
¢bea Constant. : ) = -E} 15
Parametrized by r(t) that 1o YO At 8 level set {(z,9) : f(z,)

t), that is
flr(t)) =e

. | Cvery time ¢, r'(t) and V f(r(t)) are perpendicular. Make sure to use
Englllsh Sentences if appropriate (I am going to be very strict when grading extra
credit so please be precise and explain your steps)

Show that fo
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EC2 (10 points) A pe
, Il i
Elven by “UIve with mean i and standard deviation o (both constants) is

o ]

9(z) = et

a

/:g[x]dz = 1.

(Half credit will be given if you assume the value of [ e~='dx, which you can
deduce from ﬂﬂgﬂﬁuuiin Problem 2 of the written part of Homework 07. If you derive
the value of S5, e = dz and then use it in your computation you will get full credit.)
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Show that
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